APPENDIX -1
Calculation of Growth Rate of Total Loan of NABIL, EBL and HBL
Growth rate it calculated,;
D, = Dg (1+g) "*

Where,

D, = Total loan of n" year.

Do = Total deposit of initial year
g = growth rate

n = number of year

Calculation of average growth rate of ‘Total Loan & Advance’ of NABIL bank
For 2004/05 to 2008/09:

Doosios = RS. 27589.93 million

Dooaos = RS. 10586.17 million

n=>5 year

D2008i00 = D20oaios (1+9) *™

Or, 27589.93 = 10586.17 (1+g) *
Or, 2.306 = (1+g) *
1

Or, g = (2.306) 4 -1
Or,g=27%

Calculation of Growth rate in Personal-Mortgage lending each year from
2004/05 to 2008/09;

It is assumed that PML cover 20% of ‘Total loan and advances’ because one CEO
of NIC bank has said in his interview in 2008 that 20% has been invested for
individual borrowers out of total loan. Likewise as per inquiry with the related
employee of PLU of NABIL bank they have said the contribution of PLU is 20 —

25 percentages in total loan and advances.



Calculation of rate of PML of NABIL
(Rs. in million)

Avg.
Initial PML |Growth rate| New PML
Fiscal Year % (%) %
2004/05 9.75 - 9.75
2005/06 9.75 27.00 12.38
2006/07 12.38 27.00 15.73
2007/08 15.73 27.00 19.97
2008/09 19.97 27.00 25.36

Calculation of PML amount of NABIL Bank

(Rs. in million)

Fiscal Year |[Total Loan % of PML |PML Rs.

2004/05 10586.17 9.75 1032.15
2005/06 12922.54 12.38 1599.81
2006/07 15545.78 15.73 2445.35
2007/08 21365.05 19.97 4266.60
2008/09 27589.93 25.36 6996.81

Calculation of average growth rate of ‘Total Loan & Advance’ of EBL
For 2004/05 to 2008/09:

Doosios = RS. 23884.67 million

Dyooaos = RS. 7618.67 million

n=>5 year

D200si00 = Daooaios (1+9) °*

Or, 23884.67 = 7618.67 (1+g) *
Or, 3.135 = (1+g) *
1

Or, g =(3.135) 4 -1
Or,g=33%

Calculation of rate of PML of EBL



(Rs. in million)

Avg.
Initial PML |Growth rate| New PML
Fiscal Year % (%) %
2004/05 8.50 - 8.50
2005/06 8.50 0.33 11.31
2006/07 11.31 0.33 15.04
2007/08 15.04 0.33 20.00
2008/09 20.00 0.33 26.60

Calculation of PML amount of EBL
(Rs. in million)

Fiscal Year |Total Loan | % of PML |PML Rs.

2004/05 7618.67 8.50 647.59
2005/06 9801.31 11.31 1108.53
2006/07 13664.08 15.04 2055.08
2007/08 18339.09 20.00 3667.82
2008/09 23884.67 26.60 6353.32

Calculation of average growth rate of ‘Total Loan & Advance’ of HBL
For 2004/05 to 2008/09:

Dyoosios = RS. 24793.16 million

D2ooaios = RS. 12424.52 million

n=>5year
D200si09 = D2ooaros (1+9) **
Or, 24793.16 = 12424.52(1+q) 4
Or, 1.995 = (1+g) *
1

Or, g = (1.995) 4 -1
Or, g =18.8%



Calculation of rate of PML of HBL

(Rs. in million)

Avg.
Initial PML |Growth rate| New PML
Fiscal Year % (%) %
2004/05 9.00 - 9.00
2005/06 9.00 18.80 10.69
2006/07 10.69 18.80 12.70
2007/08 12.70 18.80 15.09
2008/09 15.09 18.80 17.93

Calculation of PML amount of HBL
(Rs. in million)

Fiscal Year |Total Loan | % of PML |PML Rs.

2004/05 1242452 9.00 1118.21
2005/06 14642.56 10.69 1565.29
2006/07 16998.00 12.70 2158.75
2007/08 19497.52 15.09 2942.18
2008/09 24793.16 17.93 4445 .41




APPENDIX - 11

Calculation of average interest rate of PML in last five years

Of NABIL
(Rs. in million)
Interest | Interest Interest
6 months | rate of rate of rate of Interest [sum of average |Yearly
Fiscal interest Auto Home | Mortgage | rate of |interest |interest [Interest
Year rate Loan Loan Loan OD Loan |rate rate rate
1sthalf | 8.50% 7.50% 8.00% 0.00% 24.00% 8.00%
2004/05 | 2nd half | 9.00% 7.50% 8.50% 0.00% 25.00% 8.33%| 8.17%
1sthalf | 9.00% 8.00% 10.00% 0.00% 27.00% 9.00%
2005/06 | 2nd half | 9.50% 8.50% 10.00% 0.00% 28.00% 9.33%| 9.17%
1sthalf | 10.00% | 8.50% 10.00% 0.00% 28.50% 9.50%
2006/07 | 2nd half | 10.00% | 9.50% 10.00% 0.00% 29.50% 9.83%| 9.67%
I1sthalf | 10.50% | 8.50% 10.50% 0.00% 29.50% 9.83%
2007/08 | 2nd half | 11.00% | 8.50% 10.50% 0.00% 30.00%| 10.00%| 9.92%
I1sthalf | 11.50% | 10.50% 11.50% 0.00% 33.50%| 11.17%
2008/09 | 2nd half | 12.00% | 11.00% 12.00% 0.00% 35.00%| 11.67%]| 11.42%
Where,

Sum of interest = interest rate of Auto Loan + Home Loan + Mortgage Loan + Overdraft

(OD) loan.

Average interest rate =

Sumof inerestrate

No. of PLU products = 4
Avg.inerestrateof 1st half + Avg.inerestrateof 1st half

Yearly Interest rate =

No.of PLUproducts

2

Calculation of average interest rate of PML in last five years,

Of EBL
(Rs. in million)
Interest | Interest Interest
6 months | rate of rate of rate of Interest [sum of average |Yearly
Fiscal interest Auto Home | Mortgage | rate of |interest [|interest |Interest
Year rate Loan Loan Loan OD Loan |rate rate rate
1sthalf | 7.50% 7.75% 8.00% 8.75% 32.00% 8.00%
2004/05 | 2nd half | 7.50% 8.00% 8.50% 9.00% 33.00% 8.25%| 8.13%
1sthalf | 8.00% 8.25% 9.50% 9.25% 35.00% 8.75%
2005/06 | 2nd half | 8.50% 8.50% 9.50% 9.50% 36.00% 9.00%| 8.88%
1st half | 9.00% 8.75% 8.50% 9.50% 35.75% 8.94%
2006/07 | 2nd half | 9.50% 9.00% 8.75% 9.75% 37.00% 9.25%| 9.09%
1sthalf | 10.00% | 9.00% 9.00% 10.00% 38.00% 9.50%
2007/08 | 2nd half | 10.00% | 9.25% 9.00% 10.00% 38.25% 9.56%| 9.53%
1sthalf | 9.50% 9.25% 9.25% 10.25% 38.25% 9.56%
2008/09 | 2nd half | 9.75% 9.75% 9.75% 10.25% 39.50% 9.88%| 9.72%




Calculation of average interest rate of PML in last five years,

Of HBL
(Rs. in million)
Interest | Interest Interest
6 months | rate of [ rate of rate of Interest [sum of average |Yearly
Fiscal interest Auto Home | Mortgage | rate of |interest [|interest |Interest
Year rate Loan Loan Loan OD Loan |rate rate rate
1sthalf | 8.50% 7.50% 8.00% 9.75% 33.75% 8.44%
2004/05 | 2nd half | 9.00% 7.50% 8.50% 10.00% 35.00% 8.75%| 8.59%
1st half | 9.00% 8.00% 10.00% | 10.25% 37.25% 9.31%
2005/06 | 2nd half | 10.00% | 8.50% 10.00% | 10.50% 39.00% 9.75%| 9.53%
1st half | 10.25% [ 8.50% 10.00% | 10.50% 39.25% 9.81%
2006/07 | 2nd half | 10.25% | 9.50% 10.00% 9.00% 38.75% 9.69%| 9.75%
1st half | 8.00% 8.50% 10.50% 9.00% 36.00% 9.00%
2007/08 | 2nd half | 8.50% 8.50% 10.50% 9.00% 36.50% 9.13%| 9.06%
I1sthalf | 9.75% [ 10.50% 11.50% 9.50% 41.25%| 10.31%
2008/09 | 2nd half | 10.75% | 11.00% 12.00% 9.75% 43.50%| 10.88%| 10.59%




APPENDIX-III

Calculation of PML returns in last five years,

Of NABIL
(Rs. in million)
Yearly rate of | Service
Fiscal | interest PML Interest | service | Chage in (Total
Year rate Amout | income | charge Rs. income
2004/05 8.17% 1032.15| 84.33 | 1.00% 10.32 94.65
2005/06 9.17% 1599.81| 146.70 | 1.00% 16.00 162.70
2006/07 9.67% 2445.35| 236.47 | 1.00% 24.45 260.92
2007/08 9.92% 4266.60( 423.25 | 1.00% 42.67 465.91
2008/09 | 11.42% | 6996.81| 799.04 | 1.00% 69.97 869.00

Calculation of PML returns in last five years,

Of EBL
(Rs. in million)
Yearly rate of | Service
Fiscal interest PML Interest | service |Chage in|Total
Year rate Amout income [ charge Rs. |income

2004/05 8.13% 647.59| 52.65 1.00% 6.48 59.12

2005/06 8.88% 1108.53| 98.44 1.00% | 11.09 109.52

2006/07 9.09% 2055.08| 186.81 1.00% | 20.55 207.36

2007/08 9.53% 3667.82| 349.54 1.00% | 36.68 386.22

2008/09 9.73% 6353.32| 618.18 1.00% | 63.53 681.71

Calculation of PML returns in last five years,
Of HBL
(Rs. in million)
Yearly rate of Service
Fiscal interest PML Interest service | Chage in [Total

Year rate Amout income charge Rs. income
2004/05 8.59% 1118.21 96.05 1.00% 11.18 107.24
2005/06 9.53% 1565.29| 149.17 1.00% 15.65 164.83
2006/07 9.75% 2158.75| 210.48 1.00% 21.59 232.07
2007/08 9.06% 2942.18| 266.56 1.00% 29.42 295.98
2008/09 10.59% 4445.41| 470.77 1.00% 44.45 515.22




APPENDIX-IV

Calculation of Correlation between Deposit and Loan & Advance of NABIL

bank
(Rs. in million)
Loan & dx = q 2 dy=__
Fiscal | Advances Deposit | (x- x)_ X v-y)
Year ) v) dy’  |dxdy
2004/05 10586.17] 14586.61| -7015.73| 49220467.43| -10721.31] 114946531.00] 75217830.24
2005/06 12922.54] 19347.40| -4679.36] 21896381.93| -5960.52| 35527810.59] 27891405.66
2006/07 15545.78] 23342.29| -2056.12| 4227637.68| -1965.64| 3863720.95|  4041585.37
2007/08 21365.05| 31915.05] 3763.15| 14161320.50] 6607.13] 43654127.19] 24863629.79
2008/09 27589.93| 37348.26] 9988.03] 99760803.21| 12040.34| 144969666.91| 120259263.31
X = Ty = 2dx2 = 2dy2 = Zdxdy =
88009.48 | 126539.59 |Zdx=-0.02 [189266610.76 |2dy=-0.01 |342961856.65 [252273714.37
X = =
17601.90 25307.918

dexdy _zdx'zdy

=
Y NS - ) N (T )

5x 25227371437 —(0.02x 0.01)

J5x18926661076— (0.02)2 \/5x 34296185665 — (0.01)?
1261368572

~ /9463330535+/1714809283
1261368572

~ 3076253x 4141026

_ 1261368572
1273884235

=0.99

Calculation of Probable Error (P.E.):

1-r?

P.E. =0.6745 "/

=0.6745

9F

1-0.

J5

=0.6745 x 0.0089

=0.006
6PEr = 6x0.006

=0.036




r > 6PE, therefore co-relation is significant

Calculation of Correlation between Deposit and Loan and Advance of EBL

(Rs. in million)

Loan & dx = q 2 dy = _
Fiscal Advances Deposit | (x- x)_ X v-y)
Year ) V) dy? dxdy
2004/05 7618.67| 10097.69| -7042.89| 49602285.47( -9779.44| 95637446.71| 68875510.40
2005/06 9801.31| 13802.44| -4860.25| 23622059.22( -6074.69| 36901810.00f 29524510.86
2006/07 13664.08| 18186.25 -997.48 994964.36| -1690.88 2859065.03 1686614.30
2007/08 18339.09| 23976.30| 3677.53] 13524190.13| 4099.17| 16803178.29] 15074792.80
2008/09 23884.67| 33322.95| 9223.11] 85065813.41] 13445.82| 180789967.91| 124012280.35
e Sy = 2dx2 = dy2 = >dxdy =
73307.82 99385.63 |Xdx=0.02 [172809312.58 [Xdy=-0.02 [332991467.94 [239173708.70
= y:
14661.56 19877.13

N> d d,

-2.4d,2.d,

\/de *—(Qd ) YNYd 2P - (D d)?

5x23917370870—(-0.02x0.02)

\/5><17280931258 (-0.02)? /5% 33299146794 (0.02)?
1195868544

\/8640465625/1664957336
1195868544

29394.67 =< 4080389

1195868544
1199416838

0.997

Calculation of Probable Error (P.E.):

1—
P.E. = 0.6745 /g

2

1

=0.6745

—0.997

NG

=0.6745 x 0.0027

=0.0018
6PEr = 6x0.0018

=0.01

r > 6PE, therefore co-relation is significant




Calculation of Correlation between Deposit and Loan and Advance of HBL

(Rs. in million)

Loan & dx = dXZ dy =
Fiscal | Advances | Deposit | (x-x) v-y)
Year x) V) dy? dxdy
2004/05 12424.52 24814.01| -5246.63| 27527126.36| -4761.47| 22671587.04| 24981666.10
2005/06 14642.56[ 26490.85[ -3028.59 9172363.45] -3084.63 9514936.07 9342079.63
2006/07 16998.00] 30048.42] -673.15 453134.96 472.94 223669.41 -318358.96
2007/08 19497.52| 31842.79] 1826.37| 3335627.38] 2267.31 5140690.10{  4140945.14
2008/09 24793.16] 34681.35] 7122.01f 50722955.22] 5105.87( 26069857.40| 36363996.06
IX = Ty = 2dx2 = Zdy2 = dxdy =
88355.75 | 147877.41 |£dx=0.00 [91211207.36 |Xdy=0.01 [63620740.01 |74510327.96
X = =
17671.15 29575.48

N> d d,

~Sd,

>,

\/de - Od, )2\/de *—(Cd)?

5x 7451032796 — (0.00x 0.01)

5% 9121120736 — (0.00) /5 x 6362074001 (0.01)

3725516398

\/4560560368+/318103700

3725516398

2135547x1783546

3725516398
3808846708

=0.978

Calculation of Probable Error (P.E.):

1-—r?
P.E.=0.6745 /N

1—

0.978&

=0.6745

/5

=0.6745 x 0.0195
=0.013

6PEr = 6x0.

013

=0.0787

r > 6PE, therefore co-relation is significant




APPENDIX -V
Calculation of Correlation between PML and Deposit of NABIL bank

(Rs. in million)

dx = A dy =
Fiscal PML Deposit | (x- x)_ X - y)
Year (x) (y) dy2 dxdy
2004/05 2117.23| 14586.61| -4160.97| 17313671.34| -10721.31| 114946531.00f 44611057.59
2005/06 3282.33| 19347.40| -2995.87 8975237.06| -5960.52| 35527810.59| 17856946.05
2006/07 5015.07| 23342.29| -1263.13 1595497.40| -1965.64 3863720.95 2482852.54
2007/08 7945.66| 31915.05] 1667.46 2780422.85 6607.13| 43654127.19| 11017119.99
2008/09 13030.73| 37348.26| 6752.53| 45596661.40( 12040.34| 144969666.91| 81302723.30
X = Ly = 2dx2 = 2dy2 = Zdxdy =
31391.02 | 126539.59 |Xdx =0.02 |76261490.05 |>dy=-0.01 [342961856.65 [157270699.46
X _
=6278.20 |25307.918

NYd d, ->'d >d

Jde P—(0d ) INYd P - d)’

5x15727069946— (0.02x (—0.01))

\/5><7626149005 (-0.02)2 /5% 34296185665 (~0.01)?
78635349730

~ /3813074503+/1714809283
78635349730

~ 195271x 4141026
78635349730

8086220928
=0.97

Calculation of Probable Error (P.E.):

1—
P.E. = 0.6745 /g

2

1-0.972

=0.6745

J5

=0.6745 x 0.0264

=0.018
6PEr = 6x0.006

=0.107

r > 6PE, therefore co-relation is significant




Calculation of Correlation between PML and Deposit of EBL

(Rs. in million)

dx = dy dy =

Fiscal PML Deposit | (x- x)_ X v-y)

Year (x) (v) dyz dxdy
2004/05 1523.73 10097.69| -4171.54| 17401745.97| -9779.44 95637446.71| 40795325.14
2005/06 2607.15 13802.44| -3088.12 9536485.13| -6074.69 36901810.00f 18759359.33
2006/07 4834.35 18186.25 -860.92 741183.25| -1690.88 2859065.03 1455709.83
2007/08 7141.24| 23976.30 1445.97 2090829.24 4099.17 16803178.29 5927273.95
2008/09 12369.87| 33322.95| 6674.60| 44550285.16] 13445.82| 180789967.91| 89745443.47

X = 3y = 2dx2 = Zdy2 = Zdxdy =
28476.34 99385.63 [Xdx=-0.01[74320528.75 |¥dy=-0.02 |332991467.94 |156683111.72
X =
=5695.27 |19877.13

N> d d,

-2.d,2.d,

\/de *—O.d, )2\/de *—(Cd)?

5x15668311172 — (-0.01x (—0.02))

5% 7432052875 — (—0.02)2 /5% 33299146794 — (—0.02)?

7834155586

\/3716026438+/1664957340

7834155586

1927610x 4080389

7834155586

7865764974

0.996

Calculation of Probable Error (P.E.):

1-r?

P.E.=0.6745 /N

=0.6745

1-0.998

V5

=0.6745 x 0.0036
=0.0024

6PEr = 6x0.0024
=0.014

r > 6PE, therefore co-relation is significant




Calculation of Correlation between PML and Deposit of HBL

(Rs. in million)

dx = e dy =
Fiscal PML Deposit | (x- x)_ X v-y)
Year ) V) dy’ dxdy
2004/05 2484.91| 24814.01| -3072.75 9441792.56| -4761.47 22671587.04| 14630803.87
2005/06 3479.07| 26490.85| -2078.59 4320536.39| -3084.63 9514936.07 6411678.99
2006/07 4798.53| 30048.42 -759.13 576278.36 472.94 223669.41 -359020.66
2007/08 6781.24| 31842.79 1223.58 1497148.02] 2267.31 5140690.10 2774233.95
2008/09 10244.53| 34681.35| 4686.87| 21966750.40| 5105.87 26069857.40] 23930525.49
X = Yy = Zdx2 = dy2 = Zdxdy =
27788.28 | 147877.41 |Xdx=-0.02|37802505.72 |>dy=0.01 |63620740.01 47388221.64
y_
= 5557.66 [29575.48

N> d d, —>d >d

\/de *—(Qd ) YNDYd - d )’

- 5x 4738822164 — (-0.02x 0.01)

J5 x 3780250572 — (—0.02)2 /5 x 6362074001 (0.01)?

23694110820
/1890125286+/318103700

— 23694110820
1374818x1783546

23694110820
24520516330

0.966

Calculation of Probable Error (P.E.):

2

1—
P.E. = 0.6745 /g

1-0.966
V5

=0.6745 x 0.030
=0.030

6PEr = 6x0.030
=0.18

=0.6745

r > 6PE, therefore co-relation is significant




APPENDIX-VI
Calculation of Correlation between Total Assets and Net Profit of NABIL

bank
(Rs. in million)
dx=__ q 2 dy =
Fiscal Assets | Net Profit | (x- x) X - )
Year x) v) dy*  dxdy
2004/05| 17186.33 520.11| -12367.64| 152958498.99 -201.26 40503.98 2489061.59
2005/06 | 22329.97 635.26] -7224.00 52186161.55 -86.11 7414.59 622044.11
2006/07 | 27253.39 673.96] -2300.58 5292654.53 -47.41 2247.74 109071.05
2007/08 | 37132.76 746.47| 7578.79 57438042.71 25.10 629.91 190212.45
2008/09 | 43867.40] 1031.05| 14313.43] 204874206.80 309.68 95903.62|  4432626.57
X = Ty = Tdx2 = 2dy2 = Zdxdy =
147769.85 | 3606.86 |Xdx=0.00 |472749564.57 |3dy=0.01 |146699.83 7843015.77
— y
X = =
29553.97 [721.37

N> d d, ->d >d
Jde P—(0d ) INYd P - d)’
5x 784301577 —(0.00x (0.01))
\/5><47274956457 (0.00)% \/5x14669983— (0.01)°
_ 3921507885
J2363747823/73349915

3921507885
4861839x856.45

_ 3921507885
4163900859

=0.94

Calculation of Probable Error (P.E.):

2

1—
P.E. = 0.6745 /g

1-0.942
=0.6745 J5

=0.6745 x 0.113
=0.076

6PEr = 6x0.076
=0.46



r > 6PE, therefore co-relation is significant

Calculation of Correlation between Assets and Net Profit of EBL

(Rs. in million)

dx =__ d 2 dy = _
Fiscal Assets Net Profit | (x- X) X (y- )
Year (x) (y) dy2 dxdy
2004/05 11732.52 168.21| -10905.59| 118931971.38| -190.16] 36159.30 2073764.05
2005/06 15959.28 237.29| -6678.83| 44606707.56] -121.08| 14660.37 808672.17
2006/07 21432.57 296.41| -1205.54 1453316.32| -61.96 3839.17 74696.20
2007/08 27149.34 451.22( 4511.23| 20351222.13 92.85 8620.75 418858.95
2008/09 36916.85 638.73| 14278.74| 203882358.87| 280.36/ 78602.85 4003215.54
X = 3y = 2dx2 = dy= 2dy2 = Zdxdy =
113190.57 | 1791.86 [Xdx=0.02 [389225576.27 |0.01 141882.44 [7379206.91
X= =
22638.11 358.37
” N> d d, —>d _>d

\/de *—O.d, )2\/de *—(Cd)?

5% 737920691 (0.02x (0.01))

J5x38922557627 — (0.02)2 /5x14188244 — (0.01)?

3689603455

\/1946127881/7094122

3689603455
4411494x842.27

3689603455
3715669051

=0.993
Calculation of Probable Error (P.E.):

2

1—
P.E. = 0.6745 /g

1-0.993
V5

=0.6745 x 0.0062
=0.0042

6PEr = 6x0.0042
=0.026

r > 6PE, therefore co-relation is significant

=0.6745



Calculation of Correlation between Assets and Net Profit of HBL

(Rs. in million)

dx = NG dy =
Fiscal Assets Net Profit | (x- x) X v-Y)
Year (x) (y) dy2 dxdy
2004/05 27844.69 308.28| -5419.33| 29369087.19 -220.97 48829.88 1197534.49
2005/06 29460.39 457.46| -3803.63| 14467603.67 -71.79 5154.13 273071.38
2006/07 33519.14 491.82 255.12 65086.78 -37.43 1400.79 -9548.44
2007/08 36175.53 635.87| 2911.51 8476896.30 106.62 11367.51 310420.99
2008/09 39320.32 752.83] 6056.30[ 36678794.75 223.58 49990.13 1354096.69
X = Tdx2 = Tdy2 = Tdxdy =
166320.08 | Xy =2646.26 [Xdx =-0.02(89057468.70 |2dy=0.01 [116742.44 3125575.12
X = y =
33264.02 529.25
IV:E:d d, :E:d :§:d

\/de - O.d, )2\/de *—(Cd)?

= 5x 312557512 —(-0.02x0.01)

/5x8905746870— (—0.02)2 /5x11674214 — (0.01)?

= 156278756
J4452873435+/583710.7

— 156278756
2110183x764

156278756
1612180019

0.969

Calculation of Probable Error (P.E.):

2

1—
P.E. = 0.6745 /g

1-0.969
/5

=0.6745 x 0.061
=0.041

6PEr = 6x0.041
=0.25

r > 6PE, therefore co-relation is significant

=0.6745




APPENDIX - VII
Calculation of Deposit trend of NABIL bank for next 5 years
(Rs. in million)

Year
duratio 2
Fiscal n Deposit X
vear | () ) Y xy

2004/05 1 14586.61]  1.00 212769132.95 14586.61

2005/06 2 19347.40]  4.00 374321848.07 38694.80

2006/07 3 23342.29]  9.00 544862269.02 70026.86

2007/08 4 31915.05]  16.00 1018570225.01 127660.19

2008/09 5 37348.26]  25.00 1394892151.55 186741.28

Xy = 2y2 = 2xy =
N=5 |3x=15|126539.59 |5x2 =55 |3545415626.59 [437709.72 54
We have,
y =a+ bx (i) From eq" (iv) and (V)
Yy = Na + bXx (i1) 5a + 15b = 126539.59 (iv) x 15
Txy = a¥x + bZx? (iit) 15a + 55b = 437709.72 (V) X5
Fromeq" (ii) we get, 75a + 225b = 1898093.85
Ty =Na + bXx (ii) 75a + 275b = 2188548.60
Or, 126539.59 = 5a + bx15 - - -
Or, 5a + 15b = 126539.59  (iv) 0 -50b =-290454.75
Fromeq" (iii) we get Or, b = 5809.095
TXy = aZx + arx’ (iii) Substituting the value of ‘b’ in eq"

Or, 437709.72 = ax15 + b x 55 (iv) we get,

Or, 15a + 55b = 437709.72 (V) 5a + 15 x 5809.095 = 126539.59
Or, a = 39403.165/5
Or, a = 7880.633

Now, calculation of future days deposi t trend
Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,
y =a+ bx
Y2000r10 = 7880.633 + 5809.095 x 6

= 42735.20
Yao1011 = 7880.633 + 5809.095 x 7



= 48544.298

V2011112 = 7880.633 + 5809.095 x 8
=54353.393

V2012113 = 7880.633 + 5809.095 x 9
= 60162.488

V201314 = 7880.633 + 5809.095 x 10
= 65971.583

Calculation of Deposit trend of EBL for next 5 years

(Rs. in million)

Year
duratio )
Fiscal n Deposit X
Year (x) ) y2 Xy
2004/05 1 10097.69]  1.00 101963343.34 10097.69
2005/06 2 13802.44 4.00 190507460.37 27604.89
2006/07 3 18186.25 9.00 330739798.18 54558.76
2007/08 4 23976.30f 16.00 574862865.78 95905.19
2008/09 5 33322.95| 25.00 1110418730.12 166614.73
Ty = 2y2 = Ixy =
N=5 |Xx=15| 99385.63 |>x2=55 |2308492197.79 |[354781.26
We have,
y =a+ bx (i) From eq" (iv) and (V)
Yy =Na + bZx (11) 5a + 15b = 99385.63 (iv) x 15
Xy = aXx + bXx? (iii) 15a + 55b = 354781.26 (V) x5
Fromeq" (ii) we get, 75a + 225b = 1490784.45
Yy = Na + bXx (i1) 75a + 275b =1773906.30

Or, 99385.63 = 5a + bx15

Or, 5a + 15b = 99385.63  (iv)
Fromeq" (iii) we get
Xy = a¥x + aXx’ (i)

Or, 354781.26 = ax15 + b x 55

Or, 15a + 55b = 354781.26 (V)

0 -50b =-283121.85

Or, b =5662.44

Substituting the value of ‘b’ in eq"
(iv) we get,

5a + 15 x 5662.44 = 99385.63

Or, a = 14449.075/5

Or, a =2889.815



Now, calculation of future days deposit trend
Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,
y =a+bx
Yoo0er10 = 2889.815 + 5662.44 x 6
= 36864.455
Yoo1011 = 2889.815 + 5662.44 x 7
= 42526.895
Yo01112 = 2889.815 + 5662.44 x 8
= 48189.335
V2012113 = 2889.815 + 5662.44 x 9
= 53851.775
Yo013/14 = 2889.815 + 5662.44 x 10
=59514.215

Calculation of Deposit trend of HBL for next 5 years
(Rs. in million)

Year
duratio 2

Fiscal n Deposit X

Year (x) (y) yz Xy
2004/05 1 24814.01 1.00 615735141.91 24814.01
2005/06 2 26490.85 4.00 701765186.70 52981.70
2006/07 3 30048.42 9.00 902907364.21 90145.25
2007/08 4 31842.79| 16.00 1013963211.30 127371.16
2008/09 5 34681.35| 25.00 1202795691.01 173406.73

Zy= 2y2 = 2xy =
N=5 |[3Zx=15]|147877.41 [Ix2=55 |4437166595.13 [468718.85

We have,
y =a+ bx (i) From eq" (iv) and (V)
Yy = Na + bZx (ii) Sa+ 15b = 147877.41  (iv) x 15
Xy = aXx + bXx? (i) 15a + 55b = 468718.55 (v) x5
Fromeq" (ii) we get, 75a + 225b = 2218161.15
Ty = Na + bZx (ii) 75a + 275b = 2343592.75

Or, 147877.41 = 5a + bx15 - - -
Or, 5a + 15b = 147877.41  (iv) 0 -50b =-125431.6



Fromeq" (iii) we get

Xy = aXx + aXx’ (iii)
Or, 468718.85 = ax15 + b x 55
Or, 15a + 55b = 468718.55 (V)

Or, b =2508.63

Substituting the value of ‘b’ in eq"
(iv) we get,

5a + 15 x 2508.63 = 147877.41
Or, a=110247.96/5

Or, a = 22049.592

Now, calculation of future days deposi t trend

Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,

y =a+ bx

Y0000 = 22049.59 + 2508.63 x 6
=37101.37

Yoo010i11 = 22049.59 + 2508.63 x 7
= 39610

Yao1112 = 22049.59 + 2508.63 x 8
= 42118.63

V2012113 = 22049.59 + 2508.63 x 9
= 44627.26

Yoo1314 = 22049.59 + 2508.63 x 10
= 47135.89



APPENDIX - VIII
Calculation of PML trend of NABIL bank for next 5 years

(Rs. in million)

Year 2
Fiscal duration PML X
Year (x) ) Xy
2004/05 1 1032.15] 1.00 1032.15
2005/06 2 1599.81]  4.00 3199.62
2006/07 3 2445.35]  9.00 7336.05
2007/08 4 4266.60] 16.00 17066.40
2008/09 5 6996.81| 25.00 34984.05
Xy =
N=5 ¥x =15 16340.72 |¥x2 =55  |¥xy = 63618.27
We have,
y =a+bx (i) From eq" (iv) and (v)
Yy = Na + bXx (ii) 5a + 15b = 16340.72 (iv) x 15
Txy = a¥x + bZx? (iit) 15a + 55b = 63618.27  (v) X5
Fromeq" (ii) we get, 75a + 225b = 245110.80
Sy = Na + b=x (ii) 75a + 275b = 318091.35
Or, 16340.72 = 5a + bx15 - - -
Or, 5a + 15b = 16340.72  (iv) 0 -50b =-72980.55
Fromeq" (iii) we get Or, b = 1459.61
TXy = aZx + arx’ (iii) Substituting the value of ‘b’ in eq"

Or, 63618.27 = ax15 + b x 55
Or, 15a + 55b = 63618.27

(v)

(iv) we get,

5a + 15 x 1459.61 = 16340.72
Or, a = - 5553.445/5
Or,a=-1110.69

Now, calculation of future day’s PML trend

Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,

y =a+ bx

Yo009/10 = -1110.69 + 1459.61 % 6
= 7646.97

Yoo10i11 = -1110.69 + 1459.61 x 7
=9106.58



Yoo11/12 = -1110.69 + 1459.61 x 8

=10566.19

Yo012113 = -1110.69 + 1459.61 x 9

=12025.80

V2013114 = -1110.69 + 1459.61 x 10

=13485.41

Calculation of PML trend of EBL for next 5 years

(Rs. in million)

Year 2
Fiscal duration PML X
Year (%) (y) Xy

2004/05 1 647.59]  1.00 647.59

2005/06 2 1108.53]  4.00 2217.06

2006/07 3 2055.08]  9.00 6165.24

2007/08 4 3667.82] 16.00 14671.28

2008/09 5 6353.32|  25.00 31766.60

Sy =
N=5 | Sx=15 | 13832.34 |sx2=55 |Sxy=55467.77
We have,
y =a+ bx (i) From eq" (iv) and (V)
Yy =Na + bZx (i1) 5a + 15b =13832.34 (iv) x 15
Xy = aXx + bXx? (iii) 15a + 55b = 55467.77 (V) x5
Fromeq" (ii) we get, 75a + 225b = 207485.10
Yy =Na + bZx (ii) 75a + 275b = 277338.85
Or, 13832.34 = 5a + bx15 - - -
Or, 5a + 15b =13832.34  (iv) 0 -50b =-69853.75
Fromeq" (iii) we get Or, b =1397.075
TXy = a¥x + a¥x (iii) Substituting the value of ‘b’ in eq"

Or, 55467.77 = ax15 + b x 55
Or, 15a + 55b = 55467.77

(v)

(iv) we get,

5a + 15 x 1397.075 = 13832.34
Or,a=-7123.78/5
Or,a=-1424.76

Now, calculation of future day’s PML trend

Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,



y =a+ bx

Yo009/10 = -1424.76 + 1397.075 X 6
= 6957.69

Yooroi11 = -1424.76 + 1397.075% 7
= 8354.765

Yoo11/12 = -1424.76 + 1397.075 x 8
=9751.84

Yoo12113 = -1424.76 + 1397.075 % 9
=11148.915

V2013114 = -1424.76 + 1397.075 x 10

= 12545.99

Calculation of PML trend of HBL for next 5 years

(Rs. in million)

Year 2
Fiscal duration PML X
Year () (y) Xy

2004/05 1 1118.21 1.00 1118.21

2005/06 2 1565.29 4.00 3130.58

2006/07 3 2158.75 9.00 6476.25

2007/08 4 2942.18 16.00 11768.72

2008/09 5 4445.41 25.00 22227.05

Ty =
N=5 ¥x =15 12229.84 |¥x2 =55 |ixy=44720.81
We have,
y =a+ bx (i) Or, 44720.81 =ax15+ b x 55
Yy = Na + bZx (ii) Or, 15a + 55b = 44720.81 (V)
Xy = aXx + bXx? (iii) From eq" (iv) and (v)
Fromeq" (ii) we get, 5a+15b=12229.84  (iv) x 15
Ty = Na + bZx (i) 15a + 55b = 44720.81  (v) x5
Or, 12229.84 = 5a + bx15
Or, 5a + 15b = 12229.84  (iv) 75a + 225b = 183447.60
From eq n (|||) we get 75a + 275b = 223604.05
Xy = a¥x + aXx’ (i) i -

0 -50b =-40156.45



Or, b =803.13

Substituting the value of ‘b’ in eq"
(iv) we get,

5a + 15 x 803.13 = 12229.84

Or, a = 182.89/5

Or, a=36.58

Now, calculation of future day’s PML trend
Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,
y =a+ bx
Y2000/10 = 36.58 + 803.13 x 6
= 4855.36
V201011 = 36.58 + 803.13 x 7
= 5658.49
Y2011/12 = 36.58 + 803.13 x 8
= 6461.62
Y2012/13 = 36.58 + 803.13 x 9
= 7264.75
Yoo1314 = 36.58 + 803.13 x 10
= 8067.88



APPENDIX - IX
Calculation of IPML trend of NABIL bank for next 5 years

(Rs. in million)

Year 2
Fiscal duration IPML X
Year (x) ) Xy
2004/05 1 94.65 1.00 94.65
2005/06 2 162.70 4.00 325.40
2006/07 3 260.92 9.00 782.76
2007/08 4 465.91 16.00 1863.64
2008/09 5 869.00 25.00 4345.00
2y =
N=5 >x =15 1853.18 [>x2 =55 >xy =7411.45
We have,
y =a+ bx (i) From eq" (iv) and (V)
Yy = Na + bZx (11) 5a + 15b = 1853.18 (iv) x 15
Txy = a¥x + bXx? (iii) 152 +55b=7411.45 (v) x5

Fromeq" (ii) we get,

Yy = Na + bZx (11)
Or, 1853.18 = 5a + bx15
Or, 5a + 15b = 1853.18  (iv)
Fromeq" (iii) we get

Xy = aXx + aXx’ (i)
Or, 7411.45 =ax15+b x 55
Or, 15a + 55b = 741145 (V)

75a + 225b = 27797.70
75a + 275b = 37057.25

0 -50b =-9259.55

Or, b=185.19

Substituting the value of ‘b’ in eq"
(iv) we get,

5a + 15 x 185.19 = 1853.18

Or, a =-924.67/5

Or,a=-184.93

Now, calculation of future day’s IPML trend

Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,

y =a+ bx

Yo009/10 = -184.93 + 185.19 X 6
=926.21

Yoo10i11 = -184.93 + 185.19 x 7
=1111.40



VYo011/12 = -184.93 + 185.19 x 8

=1296.59

V2012113 = -184.93 + 185.19 x 9
=1481.78

V201314 = -184.93 + 185.19 x 10
= 1666.97

Calculation of IPML trend of EBL for next 5 years

(Rs. in million)

Year 2
Fiscal duration IPML X
Year (%) (y) Xy

2004/05 1 59.12 1.00 59.12

2005/06 2 109.52 4.00 219.04

2006/07 3 207.36 9.00 622.08

2007/08 4 286.22 16.00 1144.88

2008/09 5 681.71 25.00 3408.55

Sy =
N=5 | $x=15 | 134393 |x2=55 |sxy=5453.67
We have,
y =a+ bx (i) From eq" (iv) and (V)
Yy =Na + bZx (i1) 5a + 15b = 1343.93 (iv) x 15
TXy = aXx + bXx? (iii) 15a + 55b = 5453.67  (v) x5
Fromeq" (ii) we get, 75a + 225b = 20158.95
Yy =Na + bZx (ii) 75a + 275b = 27268.35
Or, 1343.93 = 5a + bx15 - - -
Or, 5a + 15b =1343.93  (iv) 0 -50b =-7109.40
Fromeq" (iii) we get Or,b=142.19
TXy = aZx + arx’ (iii) Substituting the value of ‘b’ in eq"

Or, 5453.67 = ax15+ b x 55
Or, 15a + 55b = 5453.67

(v)

(iv) we get,

5a + 15 x 142.19 = 1343.93
Or, a=-788.89/5
Or,a=-157.78

Now, calculation of future day’s IPML trend

Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,



y =a+ bx

Yo009/10 = -157.78 + 142.19 X 6
=695.36

Yooroi11 = -157.78 + 142.19 x 7
=837.55

Voor112 = -157.78 + 142.19 x 8
=979.74

Yoo12113 = -157.78 + 142.19 x 9
=1121.93

Yoo013/14 = -157.78 + 142.19% 10
=1264.12

Calculation of IPML trend of HBL for next 5 years
(Rs. in million)

Year 2
Fiscal duration IPML X
Year () (y) Xy
2004/05 1 107.24 1.00 107.24
2005/06 2 164.83 4.00 329.66
2006/07 3 232.07 9.00 696.21
2007/08 4 295.98| 16.00 1183.92
2008/09 5 515.22| 25.00 2576.10
Ty =
N=5 ¥x =15 1315.34 [¥x2=55 |[ixy=4893.13
We have,
y =a+ bx (i) Or, 4893.13 =ax15 + b x 55
Yy = Na + bZx (ii) Or, 15a + 55b = 4893.13 (V)
Xy = aXx + bXx? (iii) From eq" (iv) and (v)
5a + 15b = 1315.34 (iv) x 15
From eq n (ii) we get, 15a + 55b = 4893.13 (v) x5

Yy =Na + bZx
Or, 1315.34 = 5a + bx15
Or, 5a + 15b = 1315.34

(i1) 75a + 225b = 19730.10
75a + 275b = 24465.65

(iv) - - -
0 -50b =-473555

Fromeq" (iii) we get

Xy = aXx + aXx’ (i)



Or,b=94.711

Substituting the value of ‘b’ in eq"
(iv) we get,

5a+15x94.711 = 1315.34

Or, a = 105.325/5

Or, a=-21.065

Now, calculation of future day’s IPML trend

Substituting the value of ‘a’ & ‘b’ in eq" (i) we get,

y =a+ bx

V2009110 = -21.065 + 94.711 x 6
= 547.20

Yoo10n1 = -21.065 + 94.711 x 7
=641.91

Yoo1112 = -21.065 + 94.711 x 8
=736.62

Yoo12113 = -21.065 + 94.711 x 9
=831.33

Yo01314 = -21.065 + 94.711 x 10
=926.05



Calculation of PML to TD ratio for Hypothesis

Appendix — X

(Rs. in million)

NABIL EBL HBL
PML to PML to PML
TD D to TD
Year PML D ratio PML D ratio PML D ratio
2004/05 1032.15[ 14586.61| 0.07 647.59| 10097.69| 0.06 1118.21| 24814.01| 0.05
2005/06 1599.81| 19347.40( 0.08 1108.53| 13802.44| 0.08 1565.29| 26490.85| 0.06
2006/07 2445.35| 23342.29( 0.10 2055.08| 18186.25| 0.11 2158.75| 30048.42| 0.07
2007/08 4266.60| 31915.05| 0.13 3667.82| 23976.30] 0.15 2942.18| 31842.79| 0.09
2008/09 6996.81| 37348.26] 0.19 6353.32] 33322.95| 0.19 4445.41| 34681.35] 0.13




